Sprendimai / Solutions
I turas /I round

I. Jan Van Reek, 1897
1.2 g4! (5) (likuriavimas / zugzwang)

II. Samuel Loyd, 1859

1.Bal! (2.Ba2) (1) 3.2b3, Re6#)
1... £98 2.87 (1) (3.gh & /L #)

.. 417 2.¢f (1) (3.2b3, Reb#)

W d52. 22+ (1) R4 3. L11#

. Lcd 2. 215+ (1) Ld5 3. Ledt

—

III. Gia Nadareischwili, 1991
1.%aq4+! Rel1 2.%a1+(2) Bdl 3. ®e3+ Bdd2 4. ¥c1+ Bdl 5.%e3+ Qe2+ 6. ¥e2+ Be2 7.213# (3)

IV. Eliahu Fasher, 1999
(Isp. -2;2sp.-3;3sp.-5)
1.e2 Bc52.92d3+ Qdbd#
1.Bd4 Rg42.Bd3 Be8#
1.2d3+ 2d4 2.cd 214#

V. Joseph William Abbott, 1876
1.¥a5! (+2) (2.2 d8 ~ 3. % o5#)
1. f1¥ () 2. ¥ d5+ cd 3.Le6+ (1) (3... 2f6, R4 4. 2d5#)
1... 214 2.9 d5 3. ¥ g5#)
2...cd 3.2d5+ (1) (3... 2f5 4.Lc6#)
2... Re3 3. Wg5+ (1) (3... Rd4 4. ¥ c54)

V1. Gyorgy Bakcsi, 1977
1.f6! (+2) (2. ¥ 5+ R4 3. ¥b5+ ab#)
1... a5 2.¥¢5 3. 212+ 23 4. ¥ b4+ (1) ab¥)
2...24 3. ¥ b4 (4. ¥ b3+ (1) ab#)
3... 23 4.2b2+ (1) ab#

VII. Temur Chkhetiani, 2004
a) 1.2e7 cd+ 2.2b4 Lh4 3.%Wadq Le7# (2,5)
b) 1.2e8 cd B+ 2.RQe2 Rh5 3. ¥ d1 Be8# (2,5)



Sprendimai / Solutions
II turas / II round

VIII. Levs Ulanovs, 1999
1.£d6! (5) (2.L&d5#)

IX. Marek Kwiatkowski, 2000

1.¥¢7! (+2) 2.b7#)

1... Bf72.2b2 (1) (3. @c4#)

1... Bf62.2c¢5 (1) (3.2b3, @b7#)

1... &4 2.Qe5 (1) 3. ¥ ¢5, b7, Acd, AcoH)

X. Jean Roche, 1997
1.E 14! ¥4 2, B2+ (2) Dc2 3.e8¥ Wha+ 4.292 Wod+5.2n2 Lgl1+6.2h1 Lc57.%e2+ (3) Ye2=

XI. Marcel Tribowski, 1996
1.3 Laq 2.&d2 c33.Bal £&d1 4.2b1 b3 5.&c1 Lc2# (2,5)
1.8g2 Rd3 2. ¥ d5+ Re2 3.R¢3 La2 4.2d4 Rd2 5. ¥ed ¢34 (2,5)

XII. Ralf Kratschmer, 1999

1.&e1! (2.&c3%)

1... &b2 2.2h4 3.2 3#)

2... Rd4 3.&4d2 (3. 213#)

3.. Bfl 4. 215+ Re5 5.4+ (5) 24 6. 2d3#

XIII. Jan Hartong, 1955

1. Bf1! (ltikuriavimas / zugzwang) (+1)
1... 2132.2e6 (1) ¥hs#

.. Red2.de (1) ¥het

. 2h3 2.gh (1) ¥h#

. 2172.217 (1) ¥he#

p—

XIV. Waldemar Tura, 2004
1.¥e1! [+ A e7] Rg82.e8 8 + 217 3.g6+ 26 [+ & 7] 4. ®hd+ Rf5 [+ & 6] 5.2 h5 [+ A h6] (5) fe#



Open Solving Tournament Lithuania 2020 (Lithuania, Kedainiai 12.09.2020)

Problems Difficulty (9 Solvers)

ID| Tag |Difficulty|Average|S(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
7 |Fairy 10001 0.00 0 0 0 9
11| H#5 1000] 0.00 0 0 1 8
12| #6 1000] 0.00 0 0 4 5
14|Fairy 1000] 0.00 0 0 1 8
10| = 956| 0.22 0 1 4 4
51 #4 934| 0.33 0 1 1 7
6 | S#4 8221 0.89 1 1 2 5
91 #3 778 1.11 2 0 5 2
3| + 578 2.11 3 2 2 2
4 | H#2 534 2.33 1 6 0 2
2| #3 444 2.78 5 0 1 3
13| S#2 444 2.78 5 0 3 1
1| #2 222| 3.89 7 0 2 0
8| #2 112] 4.44 8 0 1 0

| Created by WFCC Solving Tournament Manager |






